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QUESTION 1

Which authentication and authorization feature is critical for service providers when supporting multi-tenancy? 

A. Integration with external authentication services 

B. Integration with external directory services 

C. Portal authentication services 

D. Single sign-on capability 

Correct Answer: A 

 

QUESTION 2

Case 1 

Refer to the exhibit. 

Your company recently negotiated several contracts with new customers to use its proprietary eCommerce system. As a
result, the customer base has grown rapidly, which has introduced several challenges and requirements. 

Business requirements: 

Applications need to scale quickly 

Metrics and reporting to anticipate business trends and efficient use of resources External customers are looking to
license the eCommerce application Other considerations: 
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Applications need to be recorded for the public cloud Address security vulnerabilities for customer data in the cloud 

Refer to Case 1. 

You are tasked with designing a cloud. You review the existing infrastructure and business requirements. You select a
CI solution to replace the existing Platform 2.0 infrastructure. Before presenting this solution to the company, you must 

calculate the 3-year TCO using the following criteria: 

Hardware maintenance = $ 35,000 

Software maintenance = $ 20,000 

Storage = $ 2,000 (2TB @ $ 1/GB) 

What is the correct TCO value? 

A. $ 57,000 

B. $ 61,000 

C. $ 171,000 

D. $ 183,000 

Correct Answer: C 

 

 

QUESTION 3

As a cloud architect you are working with an organization to choose between a DIY or packaged PaaS Solution. 

What is a selection criterion that applies to DIY? 

A. Has a higher cost of licensing and support 

B. Is a more stable platform 

C. Has built-in governance policies 

D. Supports automated configuration 

Correct Answer: B 

 

 

QUESTION 4

SPECIAL INSTRUCTIONS REMINDER 

The remaining questions are associated with two cases. Each case has an introductory, descriptive passage (case text)
that describes background information and requirements for a specific cloud based design. And each case has a set of 
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six related, randomized questions. You will need to read the case text in order to answer the related questions
correctly. 

Given that there are two cases with six scored questions each, the total number of case-based scored questions is 12. 

When you display each questions you can easily review the related case text in a pop-up window by clicking on the
"Case" icon (shown below) 

Case 4 

Refer to the exhibit. 

Your company is currently using a traditional SAN storage network. The server infrastructure is partially virtualized.
There is a public cloud in place that is used to test development and application migration to cloud. 

Business requirements: 

Consolidate the network, storage, and compute resources Simplify network management and storage provisioning
Maintain application performance 

Need to share resources to reduce cost and improve efficiency Other considerations: 

Monitoring of protection SLAs 

All transactions must be logged for auditing review 

Users are validated using internal credentials 

Refer to Case 4. 
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You are designing the network components for a Do-It-Yourself private cloud solution. You want to restrict domain
events and minimize traffic disruptions between nodes. 

Which compute to storage connectivity solution provides this function? 

A. VSAN 

B. FC SAN 

C. VLAN 

D. VXLAN 

Correct Answer: D 

 

 

QUESTION 5

When designing for large addressing space in HCI nodes, what operations(s) negatively impacts cost of performance? 

A. First write 

B. Page-in and page-out 

C. Random write 

D. Sequential read 

Correct Answer: C 
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